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Simplify each of the radicals.
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Topic: Finding arithmetic and geometric means and making meaning of rational exponents.

You may have found arithmetic and geometric means in your prior work. Finding arithmetic and
geometric means requires finding values of a sequence between given values from non-consecutive
terms. In each of the sequences below determine the means and shaw how you found them.

Find the arithmetic means for the following. Show your work.

2

Sits

10. -
X 1 2 3 - 10 ®
y 5 11 I®—-10=2%
11. 2%~ S
’ X 1 2 3 4 5
y 18 \—a/ \ . |b 4 ) -10
12. ) V \.—-.,/ \—Z']
X 1 3 4 5 6 7
y 12 a. b. C. d. e. -6

Find the geometric means for the following. Show your work.
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Find the geometric means for the following. Show your work.

3

13. X 2
y Nn=o 12
\_./7_ /-
14. X 2 3 4
y a. 875
15. 1 3 4 5 6
4 b. 972 «

Fill in the tables of values and find the factor used to move between whole number values,

F., as well as the factor, F. used to move between each column of the table.

16.
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() = 2x—7 20. g(x) = 3*(2) 21. 1(:) = 210(1.08") i
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a. Find f(=3) a. Find g(—4) a. FindI(12)= ’2\0(“)3

b. Find f(x) = 21

c. Findf G)

b. Find g(x) = 162

c. Findg G)

. Find I(t) = 420

. FindIG):Q'D(I'D%ya

. h(x) = x*+x-6
» a. Find h(-5)
b. Findh(x) =0

c. Findh (%)

23. k(x) = -5x + 9
a. Find k(-7)
b. Findk(x) =0

c. Findk (%)

!24.m(x) = (5%)2
a. Find m(-2)
b. Findm(x) =1

c. Findm G)
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3.3 More Interesting!
A Solidify Understanding Task

Carlos now knows he can calculate the amount of interest
earned on an account in smaller increments than one full year.
He would like to determine how much money is in an account
each month that earns 5% annually with an initial deposit of
$300.

He starts by considering the amount in the account each month during the first year. He knows that
by the end of the year the account balance should be $315, since it increases 5% during the year.

1. Complete the table showing what amount is in the account each month during the first

W s Yn _ ) (Lo
deposit [Tmo .[Tmo] Hm0o] &imo] Smo[ lomo[ [me Ym0 [Amw \Uv\? (v 1 year
$300 B0[7Y 2,, | $315

:j/'/-i 3’(’. 7,
306%10137' : 75}

.06

Carlos knows the exponential equation that gives the account balance for this account on an annual

basisis A= 300(1.05)' t 'S (N \Wﬁ's

Based on his work finding the account balance each month, Carlos writes the following equation for
the same account: A = 300(1.057%)"%.

3. Verify that both equations give the same results. Using the properties of exponents. explain

why these two equations are equivalent. | 2 \ t
TR 200( 1.0y As 300(106/‘)?’)
A=200(1-0°

A = 2300102 )

2\4_ 9@
4. 'What is the meaning of the 12t in this equation? ’b ) = 3

2 {s the ¥ of monine (n & yeour
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Carlos shows his equation to Clarita. She suggests his equation could also be approximated by
A = 300(1.004)**, since (1 _1:]'5}’!{l =1.004. Carlos replies, “I know the 1.05 in the equation

A = 300(1.05)' means I am earning 5% interest annually, but what does the 1.004 mean in this
equation?”

5. Answer Carlos’ question. What does the 1.004 mean in A = 300(1.004)"?
\ntevest added month lta

The properties of exponents can be used to explain why [(1 .Di)x"]m =1.05". Here are some more
examples of using the properties of exponents with rational exponents. For each of the following,

simplify the expression using the properties of exponents, and explain what the expression means
in terms of the context.

L+l ¢+ L %
6. (LOSY%.(10SY%-(10SYE = \,OF_)\’L 12" \2 > \,Orj

Vl’l . b _
7. [(1L.05Y"]* = \ . ol}‘) Z
8. (105)7" = b‘___vl._)___
\.05"™ v,
0. (105)-105% = | 10)e) -

-/

2
10. 335?; - \ ' D D)
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Carlos and Clarita now have two equations representing the balance of their 5% account after t
years: A= 300(1.05) and A= 300(1 .{15}{1}12'. In both of these equations t represents the amount
of time the money has been in the account in terms of years.

Carlos and Clarita know they can use their equations for fractions of a year by expressing t in terms
of a portion of a year, for example, using t = 2.5 for two and one-half years or = ¥, for one month.
They are wondering if they can write an equation that would find the account balance in terms of £

months or t days.

11. Write an equation that will find the account balance in terms of t months.

12. Write an equation that will find the account balance in terms of t days.

13. The account balance is currently $382.88. Write an equation that will find the account balance t
months ago.

Oct 27-8:32 AM
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Homework

Finish 3.3 "Ready, Set, 60"

Mar 28-9:36 AM
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